. AIPNALS_4EALA

uciaHU_LZnH4T 1

=

o
o

o
i

0.08

0.06

alphal3_4eX1X:cyclenum {run == 8205}

v Hoerdon Koo *

L
10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

delta46_12X4eY:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1 110731.5 1 2
cyclenum

AIPNA4O_4e Y 4d Y
o
N
ol

o
)

0.15

0.1

0.05

8207

3206.5

8206

3205.5

8205

3204.5

8204

3203.5

8203

alphad6_4eY4aY:cyclenum {run == 8205}

h
10729 10729.5 10730 10730.5 1 11073151 2
cyclenum

run:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

deltal3_lzx4ex

segment

deltal3_12X4eX:cyclenum {run == 8205}

10729 10729 5 10730 10730 5 1073110731 510732
cyclenum

segment:cyclenum {run == 8205}

25

15

05

P I I TIPS P R
10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum




USI_1A

usi_4ey

=

0.5

usl_1X:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

usl_4eY:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

usl_12X:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

usl_sex
=

05

8207

3206.5

8206

3205.5

8205

3204.5

8204

3203.5

8203

usl_4eX:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

run:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum




USI_L1A

usI_aey

=

0.5

usr_1X:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

usr_4eY:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

usr_12X:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

usr_aex
=

05

8207

3206.5

8206

3205.5

8205

3204.5

8204

3203.5

8203

usr_4eX:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

run:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum




=

usi_cont

0.5

usl_coill:cyclenum {run == 8205}

v Hoerdon Koo *

L
10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

usl_caoil6:cyclenum {run == 8205}

-500

-1000

-1500

—-2000

-2500

-3000

KK

e P . FE .
ST RN PR ST FEET FEETE FEEE A
10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

2400

2350

2300

2250

. 3000

2500

2000

1500

1000

500

usl_coil3:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

usl_coil7:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1 11073151 2
cyclenum

- 5300

i

A

} 5200
5100
5000
4900
4800
4700
4600

4500

8207
3206.5
8206
3205.5
8205
3204.5
8204
3203.5

8203

usl_coil4:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

run:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum




=

usI_cont

0.5

-500

-1000

-1500

—-2000

-2500

-3000

usr_coill:cyclenum {run == 8205}

v Hoerdon Koo *

L
10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

usr_coil6:cyclenum {run == 8205}

TR

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

-1800

-1850

-1900

-1950

-2000

-2050

—-2100

35000

30000

25000

20000

15000

10000

5000

usr_coil3:cyclenum {run == 8205}

L
10729 10729. 5 10730 10730 5 1073110731 510732
cyclenum

usr_coil7:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1 11073151 2
cyclenum

5500

5000

4500

4000

8207

3206.5

8206

3205.5

8205

3204.5

8204

3203.5

8203

usr_coil4:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

run:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum




1A_CONL

4EA_CUIL

=

0.5

1X_coill:cyclenum {run == 8205}

v Hoerdon Koo *

L
10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

4eX_coill:cyclenum {run == 8205}

1

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

-
>
o

LA_CUIS

-22.5

-23.5

1X_coil3:cyclenum {run == 8205}

X

'l RN REEE ANE RS FEEEE FEEEE EREE R
10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

4eX_coil3:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

1X_coil7

4eX_coil7

1X_coil7:cyclenum {run == 8205}

250~
2005—
1505—
1005—
505—
:..I....I....I....I.... L
10729 10729.5 10730 10730.5 16731107315 10732
cyclenum
4eX_coil7:cyclenum {run == 8205}
250
200
150
100
50
..I....I....I....I.... ....I....

10729 10729.5 10730 10730.5 1 110731.5 1 2
cyclenum




yclenum {run == 8205}

4aY_coil7:c

yclenum {run == 8205}

4aY_coilé:c

yclenum {run == 8205}

4aY_coild:c

10729 10729.5 10730 10730.5 1073110731.5 10732

L1109” AeY

10729 10729.5 10730 10730.5 1073110731.5 10732

1100~ At

10729 10729.5 10730 10730.5 1073110731.5 10732

cyclenum

cyclenum

cyclenum

yclenum {run == 8205}

4eY_coil7:c

yclenum {run == 8205}

4eY_coilé:c

yclenum {run == 8205}

4eY_coild:c

10729 10729.5 10730 10730.5 1073110731.5 10732

L1109 A8y

-25

g

A A

10729 10729.5 10730 10730.5 1073110731.5 10732

60| --

-160

10729 10729.5 10730 10730.5 1073110731.5 10732

1100~ At

264

cyclenum

cyclenum

cyclenum



LZA_CunL

12X_coilé

=

0.5

»
0

IN

35

12X_coill:cyclenum {run == 8205}

v Hoerdon Koo *

L
10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

12X_coil6:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1 110731.5 1 2
cyclenum

Len_vuni

12X_coil3

T
©
(o2}

)
o]
]

-89

-90

-100

-200

-300

-400

-500

12X_coil3:cyclenum {run == 8205}

L
10729 10729. 5 10730 10730 5 1073110731 510732
cyclenum

12X_coil7:cyclenum {run == 8205}

T P R PR PR S
10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum

N
N

12X_coild
N
o

18

16

14

12

10F

8207

3206.5

8206

3205.5

8205

3204.5

8204

3203.5

8203

12X_coil4:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 1 2
cyclenum

run:cyclenum {run == 8205}

10729 10729.5 10730 10730.5 1073110731.5 10732
cyclenum
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